
  
  
  
OP
ER
ATI
NG
 IN

ST
RU
CT
ION

S

  
  
 P
RIO

R 
TO
 O
PE
NIN

G:


TU
RN
 P
OW
ER
 O
N 
TO
 B
EG
IN 

PR
EH
EA
T

  
   

   
   

 
SE
T
CO
NV
EY
OR
 S
PE
ED
 T
O 
DE
SIR

ED
 S
ET
TIN
G

  
 D
UR
ING

 B
US
INE

SS
 H
OU
RS
:

  
   

  
OB
SE
RV
E 
BA
KE
 O
N 
SA
ND
WIC

HE
S, 

RE
VIS
E
SE
TTI
NG
S

  
 T
O 
AC
HIE

VE
 A
 B
AK
E 
TO
 Q
UIZ

NO
S 
ST
AN
DA
RD
S

  
 A
T 
CL
OS
E:

 
TU
RN
 P
OW
ER
 O
FF
  
 F
AN
 O
PE
RA
TE
S 
UN
TIL
 U
NIT
 C
OO
LS

16

2C-200015

8

38

11 

9

5

2

10

3
6

Motor
Panel

22

24
33

34

20

23

44

47

18

15

37

32

4

14

49

35

31

29

2827

51

46

39

17

50

48

21

40
41

42

1

45
43

13

12

26

25

36

19

7

30

REFER TO THE PARTS LIST SPECIFIC TO YOUR MODEL FOR MORE DETAIL INFORMATION. 

TYPICAL QT14 EXPLODED PARTS VIEW 

53

52

52 53
OPTIONAL  

ACCESSORY PARTS 

SK2093    Rev. F 1/10/11



PARTS LIST		 	 	 	 	 	 	 	 May 23, 2013, Rev D	

   

 IMPORTANT: WHEN ORDERING, INCLUDE MODEL AND SERIAL NUMBER	

Some items are included for illustrative purposes only and in certain instances may not be available.

   Number 
Per
Unit Description and Model Designation

MODEL

Part
 Number

Key
  Number

HOLMAN CONVEYOR SANDWICH WARMER
	 	 	 	 	 QT14 - QT14R

	 1	 GE-100715	 1	 BELT SUPPORT	
	 2	 GE-100991	 1	 TOP COVER (includes insulation & baffle)
	 3	 GE-101390	 1	 WINDOW SPACER	
	 4	 GE-402340	 2	 PANEL - FAN MOUNT	
	 5	 GE-402356	 1	 PANEL - PLAIN SIDE	
	 6	 GE-402705	 1	 PANEL - POWER INPUT	
	 7	 GE-402609	 1	 PANEL - CONTROL SIDE	
	 8	 GE-402689	 1	 PANEL - UPPER BACK	
	 9	 GE-101028	 1	 PANEL - LOWER BACK	
	 10	 GE-402709	 1	 ELECTRICAL BOX (POWER INPUT)	
	 11	 GE-402710	 1	 ELECTRICAL BOX COVER	
	 12	 GE-402729	 1	 BAKE AID BRACKET	
	 13	 2M-200816	 1	 BAKE AID MAGNET	
	 14	 GE-402651	 2	 HEATER TUBE RETAINER - SMALL	
	 15	 GE-402359	 1	 HEATER TUBE RETAINER - LARGE	
	 16	 GE-402631	 1	 WINDOW RETAINER - OUTSIDE	
	 17	 GE-402344	 2	 CONTROL BOX COVER	
	 18	 GE120303	 2	 CRUMB TRAY	
	 19	 GE-402654	 1	 CRUMB TRAY - LOWER	
	 20	 GE-100944	 1	 UNLOAD TRAY	
	 21	 GE-402610	 1	 CONVEYOR END GUARD	
	 22	 2P-115362	 1	 SPROCKET DRIVEN - 25B11x3/8	
	 23	 2P-200650	 1	 SPROCKET DRIVE - 25B24x5/16	
	 24	 2P-150000	 1	 CHAIN, DRIVE - #25x16”	
	 25	 2J-200427	 1	 PILOT LIGHT - RED	
	 26	 2E-200552	 1	 SWITCH, MAIN ON/OFF	
	 27	 2E-200566	 1	 SWITCH, OVERTEMP (RESET)	
	 28	 2E-200574	 1	 SWITCH, FAN (COOLDOWN)	
	 29	 2E-Z8405	 2	 FUSE - 15A TYPE G	 	 	
	 30	 2E-Z5681	 1	 FUSEHOLDER - 2 POSITION, CLASS CL HOLDER	
	 31	 2E-Z8966	 2	 CONTRACTOR/RELAY - 1 PHASE OVENS	
	 31b	 2E-200573	 2	 CONTRACTOR/RELAY - 3 PHASE OVENS	 QT14R-V12
	 32	 2U-200577	 2	 COOLING FAN - 240V HIGH OUTPUT	
	 33a  	 PS-Z10285	 1	 CONVEYOR MOTOR LEFT TO RIGHT CCW	 QT14     50/60Hz
	 33b	 PS-Z10286	 1	 CONVEYOR MOTOR RIGHT TO LEFT CW	 QT14R  50/60Hz	
   		  PS-Z10285 INCLUDES:	

	 2U-Z9658	 1	 MOTOR AC 11 RPM CCW
	 2P-200652	 1	 SPROCKET DRIVEN -17 tooth 3/8"
	 2P-200646	 1	 SPROCKET DRIVE - 20 tooth 5/16"
	 2C-Z10075	 1	 SCREW - 1/4-20X3/8 	
	 2A-Z10076	 1	 SPACER-STEEL
	 2M-Z10161 	 1	 INSTRUCTIONS - QT14 DRIVE MOTOR REPLAC.

®



 IMPORTANT: WHEN ORDERING, INCLUDE MODEL AND SERIAL NUMBER	

Some items are included for illustrative purposes only and in certain instances may not be available.

   Number 
Per
Unit Description and Model Designation

Part
 Number

Key
  Number

      		  PS-Z10286 INCLUDES:
	 2U-Z9657	 1	 MOTOR AC 11 RPM CW
	 2P-200652	 1	 SPROCKET DRIVEN -17 tooth 3/8"
	 2P-200646	 1	 SPROCKET DRIVE - 20 tooth 5/16"
	 2C-Z10075	 1	 SCREW - 1/4-20X3/8 	
	 2A-Z10076	 1	 SPACER-STEEL
	 2M-Z10161 	 1	 INSTRUCTIONS - QT14 DRIVE MOTOR REPLAC.	

	 34	 2R-200721	 1	 FAN BLADE - CONVEYOR MOTOR	
	 35	 2R-Z16753	 2	 FAN GUARD - COOLING FAN	
	 36	 2R-200761	 1	 KNOB, SPEED CONTROL	
	 37	 GE-118067	 1	 SPEED CONTROL POTENETIOMETER (250 OHM) w/WIRES ONLY
	 38	 2Q-200588	 1	 WINDOW - NEO SARAMA (18” X 3 3/4” X 1/8”)	
	 39	 2A-Z0314	 4	 LEG - 4”	
	 40	 GE-160031	 1	 CONVEYOR BELT ASSY W/ 3 LINKS - 82.5” LONG	
	 	   2B-200618	 -	 SINGLE BELT LINK, HX STAINLESS 14IN
	 41	 2B-200620	 3	 CONVEYOR BELT SINGLE SPACE CLIP, 3.25” OVERALL LENGTH
	 42	 2P-200785	 2	 BEARING, SPRING LOADED	
	 43	 2P-200766	 2	 SPRING, BEARING	
	 44	 GE-101254	 1	 DRIVE SHAFT ASSY (W/SPROCKETS)	
	 45	 GE-101255	 1	 IDLER SHAFT ASSY (W/SPROCKETS)	
	 46	 2A-101257	 1	 RETURN SHAFT ASSY (W/SPROCKETS)	
	 47	 GB-112262	 4	 BEARING ASSY. 3/8” FLANGED	
	 48	 2A-200672	 3	 SHAFT COLLAR - 3/8”	
	 49	 2M-201822	 1	 LABEL, MAIN CONTROL (w/o TIMES)	
	 50	 2E-200387	 2	 FAN CORD	
	 51	 2E-200554	 6	 TERMINAL BLOCK - 12 TRIMMABLE, “WHITE”
	 NI	 2C-Z10075	 2	 SCREW, 1/4-20 X 3/8 (holds Exit Tray onto end of oven) 	
      ACCESSORIES
	 52	 QTEXIT14	 -	 EXIT SHELF FOR QT14 QUIZNO’S - 14 X 28
	 53	 QTENTRY7	 -	 ENTRY SHELF FOR QT14 QUIZNO’S

	 NI	 2E-200487	 1	 TERMINAL BLOCK - 6 POSITION, “BLACK”
	 NI	 SP-115402	 1	 TERMIINAL BLOCK - MAIN POWER, “BLACK”
	 NI	 2M-HG0300	 1	 VIDEO MAINTENANCE	
	 NI	 1P-Z8914	 1	 EXTREME PRESSURE MULTIPURPOSE SYNTHETIC GREASE 	
	 	 	 	 (80°F TO 400°F) , TUBE 8 oz.
	 	 HEATER TUBE LISTING	
	 	 GE-198077	 6	 675W 208V BOTTOM 	 (16 OHM)
	 	 GE-198078	 10	 375W 208V TOP 	 (28.6 OHM)	
	 	 GE-198080	 6	 675W 240V BOTTOM	 (21.3 OHM)
	 	 GE-198081	 10	 375W 240V TOP	 (38.4 OHM)
	 	 GE-198082	 6	 700W 220V BOTTOM	
	 	 GE-198083	 10	 375W 220V TOP	
	 	 GE-198087	 9	 417W 208V TOP 3PHASE
	 	 GE-198077	 6	 675W 208V BOTTOM

®

PARTS LIST		 	 	 	 	 	 	 May 23, 2013, Rev D	

MODEL

HOLMAN CONVEYOR SANDWICH WARMER
	 	 	 	 	 QT14 - QT14R


